Name 

Due on LL, Stapled, In Class on January 3.

1) Evaluate when a = -6, b = 3, and c = -2

2) Evaluate when a = -6, b = 3, and c = -2


  3b – 16 ÷ (2c) + 3a  .




  3b – 16 ÷ (2c) + 3a  .

    (2a2  9c) ÷ 6b




  (2a2  9c) ÷ 6b

3) 11x + 6 – 3x - 17 = 81



4) 7x – 12 = 11x + 20

5) 7(4x + 1) + 4(6 - 3x) = 7



6) 4(5x – 1) = 7(5x + 8)

7) 5(6x – 4) – 8(7x + 5) = -99



8) 10(9x + 3) = 8(12x - 6)

9) 93 – 7x = 191




10) 48 - ⅜x = 72

11) (6x - 5) + (7x + 7)




12) (6x2 – 5x + 7) + (9x2 – 4x + 8)

13) 4(3x – 5) + 6(4x + 3)



14) 5(6x – 9) – 7(4x – 8)

15)8(3x2 – 4x + 9) + 6(4x2 + 5x – 12)   

16) 9(4x2 + 3x – 8) – 7(6x2 – 4x + 10)

17) 5(6x4 – 8x3 + 10x2 – 4x + 2) – 10(3x4 – 4x3 + 5x2 – 2x + 1)

18) 3|6x – 12| + 5 = 59



19) ½  |10x + 2| - 7 = 17

20) -3|16x -8| + 3 = 123



21)   2|6x -9|  _  - 34 = -4










5

22)   |3x – 3|__   = -3




23)  3|4x – 12|  _   - 4 = 20
          -11






5

24)  3|7x + 21| - 1  = 52



25) 5|12x – 4| + 8    = 72

2






4

26) -2|8x – 4| - 5 = -93



27) ⅔|2x + 3| - 12 = -6

28) 9x – 5 < 31 ∩ 14 – ⅔ x > 14


29) 2(4x – 3) > -14 OR 11 – 4x < -1

30) 2| 4x – 4 | - 31 < -15



31)  2 | 3x – 9 | + 6 .  > 6









    
5

Part II: Factor Each Completely:

1) x2 – 5x – 36


2) x2 + 11x + 30

3) x2 + 7x – 30

4) x2 – 16x + 48

5) 3x2 - 3x – 168

6) 8x3 + 24x2 + 16x

7) x2 – 49


8) x2 – 256


9) 3x2 – 108

10) 144x2 – 36


11) 5x9 – 320x7

12) 4x2 + 9

13) x2 – 17x + 52

14) x2 + x – 3,080

15) x2 + 45x + 506

16) x2 – 2x – 1,098

17) x2 – 30x + 396

18) x2 + 5x – 4
Part III:

1) Two buses leave the station at the same time.  One is traveling south at a speed of 68 mph.  The other is traveling south at 54 mph.  How long until they are 50.4 miles apart? 


2) Two planes leave the airport at the same time.  One is traveling north at a speed of 184 mph.  The other is traveling south at 223 mph.  How long until they are 1,200.65 miles apart?


3) A ladder is leaning against the wall of a building.  The angle of depression is 71° and the base of the ladder is 9 feet from the base of the building.  Find the length of the ladder.

4) A statue casts a 61-foot shadow.  If the statue is 22 feet high, find the angle of elevation.  

5) A kite flyer is sitting in the park flying her kite.  She knows the string is 200 feet long and her angle of elevation is 54°.  How high is the kite?

6) A jar of change has $56.70 in it.  There are 7 less dimes than triple the quarters.  There are 4 more nickels than 5 times the amount of quarters.  How many nickels, dimes, and quarters are in the jar?  (There are no pennies.)


7) A phone call cost $2.70.  Introductory minutes cost $.18/min and additional minutes are $.09/min.  If there were 5 less additional minutes than triple the introductory minutes, how many minutes were billed at each rate?


8) A store sells hats for $17 and ties for $24.  Last weekend the store sold 6 more hats than 4 times the amount of ties and the sales were $5,714.  How many of each were sold?


9) There are 140 coins in a jar.  Some of them are quarters and some of them are dimes.  If there is $26.15 in the jar, how many of each coin are there?

10) A 32-minute phone call cost $3.12.  Introductory minutes cost $.15/min and additional minutes are $.08/min.  How many minutes were billed at each rate?

11) A Knicks hat cost $17 and a Suns hat costs $30.   If the store 7 more Suns hats than 11 times the amount of Knicks, and total sales were $557, how many of each did the store sell?

12) Billy’s cell phone company’s daytime rate is $.18/minute and nighttime rate (after 8:00 PM) is $.10/minute.  When she got her bill she saw a 28-minute phone call that cost $4.16.  When did the call begin?  When did it end?
Part IV:

1) x2 = 56 + x


2) 4x2 – 3x = 2


3) x2 + 36 = 13x

4) 12x2 = 7x – 1  

5) 7x2 – 14x = 336

6) 4x – 5 = 6x2



7) 5x3 = 50x2 – 120x

8) 5x2 = 8x -1

Part V: Case II

1) 36x2- 15x - 9

2) 6x2 + 5x – 56

3) 12x2 – 20x + 7

4) 90x2 + 60x – 80

5) 32x4 – 4x3 – 10x2

6) 8x2 – 9x -14

